2144 - FORD (SWB-LWB)
TOURNEO CONNECT

PRODUCT/URUN : 360 - SS




THE BOLTS ARE ON M6 =10 Nm
THE VEHICLES CHASSIS M8 =25 Nm

M10 =50 Nm

This part just for
SWB chassis

S

ITEM/NO PART NUMBER/PARCA ADI QTY/ADET
1 2144360F0 DRIVER/SURUCU 1
2144360B0 DRIVER/SURUCU 1

DIN 6923 FLANGE NUT - M10 2

HTC 290 M8 2

4

4

DIN 6923 FLANGE NUT - M8

DIN 6921 FLANGE BOLT - M10 x 25
2144360B0 PASSENGER/YOLCU ]
2144360F0 PASSENGER/YOLCU ]
HTC 230 - M10x25(5x20x40)
10 |HTC 269 - CLIPS (M10)

1 HTC 283 - (4X40X35)

12 HTC 292 - (4X12X75)

13 HIC 294 - M8X25 (@4X80)
14 |HTC 271 - CLIPS (M8)

15 |HTC 243 - M10x25(4x12x50)

B —

2

|0 N o AW N

NN I IR










D

2144 — FORD TOURNEO CONNECT

2015 — PRESENT/SONRASI

{

) i
-
1 I




